®3,2,1,3 @)3,2,1,2

@ 4,2,1,2 ®4,1,1,2

® 3,2,2,2
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2. (12x3y% +4xy) + 30 £ tets] shH?

D)9x?
O y+3 @ 9x2y + 3xy ® 9x3y? + 3xy

2
@ 12x%y 44 ® 12x%y + 4xy

12:3y? = 5
(12x3y? + 4xy) = 3xy—12x3y2><4——|-4xy><i
Xy 4xy

=9x%y +3




1 -1 _ _ _
T2 Yo sl mE A4k, yol ofshe] B4 ax-+by+5 —

x+1 y-1 =

5 =T=ta}o}%
x=2t-1,y=3t+1

OlZ& ax+ by + 5 = 0°f st
a(2t—1)+bBt+1)+5=0
(2a+3b)t+ (-a+b+5)=0

o] Alo] = A4 rof tsto] AHofjoF st =
2a+3b=0---@
-a+b+5=0---Q

O, @ ddsto] =4

a=3,b=-2 . a+b=3+(-2)=1

B )
A_C

=5 o AD = BCAA o] &

3x+3=2y-2
3x—2y+5=02ax+by+5=0
La=3,b=-2




4. 2012 =k=F T o], 2013 x 2011 S k 2 JERHH?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1
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£3A4 3.0206 & B2 YERYH?

15088 30173
. %835 ’ éﬁggé
@ 4995 @ 9990

15103

4995

30206 — 30 30176 15088

30206 = ——3550 = 09990 ~ 4995




8. (2x2-3x-5)-3(x*-x+4)=Ax’+Bx+C ¢ W, A+B-C 9
= ool

> E.

> Hehl 16

S5 ~
(2x? —=3x—5) = 3(x> —x+4)

=2x2—3x-5-3x+3x—12

=—x-17

=Ax>+Bx+C

L A+B-C=-14+0+17=16




welo] mofo] HAztegol, 1 W] 7tz Pojst Az Polt
7} 715 0] Lt o] A2E71%] 237} 36422 <
A’)

@ 6a @ 6b @(mb @ 10ab  ® 10b

A27)59) ol 8 het & o
2a % 3b x h = 36a°b>

6abh = 36a°b>

. h = 6ab




10. 2x-7Ty+1=x-5y &, 2x+3y+4 5yl TSt Aoz L}ety
ofet,
> CF

2x-Ty+1=x-5y & x o ®sto] A5t x =2y - 10|t}
—2x+3y+4=-22y-1)+3y+4=-y+6




11.

S -2x+3=a+b(x-1)+c(x-1)%0] xof T3}
a® + b + ¢ 9] & Fstof=h

Ch "
| — Y

>
|> pal= 5

oHd =

~&B

¥ -2x+3=a+b(x-1)+c(x—1)?

x=1SdstH 2 =g .- @
x=0& A3 =a-b+c - ©)
x=2EWYSIH3=a+b+c - ®
D= @, @] tidste] A=sta

b—c=
% 42 AYSHH b= 0, c =
2+




12.

3440235 5 242 1 o], £344 0235 5 x 2 51 A
st} Qtk, ojuff, 71 Helgh 4129
@ 100x —x @ 1000x — x ® 100x — 10x

@ 1000x — 100x QlOOOx 10x

~&B ~

10002=285.3535+
-) 10z= 2.3535-
9902=233

wHebA] & 1000x — 10x ©] T,

gl



2x-+1 1) o] o] 7+ 15
13. o7 =(§) o) o, x o] gLe Tatolet

Ch "
=

| 2
4
> d™EH: -

B

(33)2x+1 = (3—1)X+1
6x+3=-x-1
Tx=-4

TX=—=

7
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(23 + 4x2
A e
|:|°J_o1xo:; 2xx "11‘03)6 _=2)x‘+ :
lpiecs —’F‘:]:}—z—w' -
=1, 2
, 1ot}




15. oA f(x) & oA g(x) B e %2 0
=




16. = OF3H A, BO] Z|ThBo7h x 1013, FO] ¥ 445~ 72— 1316
oIt} A, BO| TSRS f(x) e} T, £(3) 9] ZHeT

@ -3 @ -1 (@)0 @ 2 ® 4

B

AB=LG, G=x+1
AB=x*+x>-7x*-13x-6

= (x+1)%(x +2)(x - 3)
fx)=(x+1)(x+2)(x-3), f(3) =0




17. ohg 17 3 7P & 48 Befe,

H7
@ 3x22x32 © 52x33
© 2x32x7 @ 32x(22)3

~&B

@3x22x32=33%x22=27x4=108
© 52 x 3% =25%x27 =675

©® 2°x32x7=8x9x7 =504

@ 3%2x(22)3 =9x20 =9x64 =576
wEba] 7 2 4= O°ltt.




18. x=53 gt & off, 55 - 5% + 53 & x of ¥t Al o= Lhepdll 229

@ 6x @ 10x 3)21x @ 25x ® 31x

55 — 5%+ 53 =53.52-53.5+ 5% = 25x — Hx + x = 21x




19. -0 =229 W, {(@a+b)" + (a—=b)")? —{(a+b)" - (a—b)")> <]

°9

@ on @ 2n+1 @2n+2 @ 2n+3 @ 2n+4

B

(a+b)"=A, (a-b)"=B
(£4) = (A% +2AB + B?) - (A% - 2AB + B?)
= 4AB
=4{(a+b)(a-b)}"
=4x2"
_ on+2




20. F A% a, bol KA [0, b] = a® - 1>t F W, [¥% x-1] +
[2x+1, 3] + [0, 1] A+EF|SE (x - a)(x® + x° +bx+c) oftt.
o, < a, b, c T a+b+co 2?

@5 @ 10 @15 @ 20 ® 25

B ‘
[x2, x=1] + [2x+ 1, 3]+ [0, 1]
=xt-(x-1)2+(2x+1)2-94+0-1

=xt -+ 2 -1+4x%+4x+1-10

=x*+3x2+6x-10

= (x=1)(x® + x* + 4x + 10)

=(x-a)(x®+ x> +bx+c)

Wb, a=1, b=4, c = 10922

a+b+c=15




